=
N = 0 &t I Al
=4 13 gl Bolg ~ 8018
C2ils
& r‘DIO/\IC.( UBIS DY /UL )
2lls2el ? A
2N -3 - c2(3H) - NEME - HES AFoH J &= =&
1,434,880 1,304,238 130,642
AN (LEtS S8 /B ) 797,009 739,009 58,000
s&al 372,809 314,809 58,000
A2 2] Y XpEkEte 77,447 19,447 58,000
201 et2F | 24,447 19,447 5,000
01 AtR22t2|dl 5,000 0 5,000
O A OlAIHIE 5,000,000 * 14! 5,000 0 5,000
401 Al EHIZ 2] 17,000 0 17,000
01 Al &I 17,000 0 17,000
OSAFEa 2tE M& X1 5,000,000& * 24 10,000 0 10,000
OSANRA s&E &X 3,000,000& = 24 6,000 0 6,000
OSAEA AER2S &K 1,000,000& * 14 1,000 0 1,000
405 Xh&tF S| 36,000 0 36,000
01 ML =EFHSHI 36,000 0 36,000
OAR4 201 7 400,000 * 25%& 10,000 0 10,000
OFROIJAL &X 600,000& * 40m 24,000 0 24,000
OQaal HSUIIAIAE &EX
2,000,000& * 14 2,000 0 2,000
HYESHHHI(BI1S)(IIEHIIE) 637,871 565,229 72,642
29| 418,841 414,309 4,532
A2 418,841 414,309 4,532
101 @1 24| 418,841 414,309 4,532
01 E 96,501 91,969 4,532
Oz e2xg 87,880 83,753 4,127
— A2t 2R+ 87,880 83,753 4,127
ol g x|
HE B8,4763 * 24Y = 36AI2H + 12& 87,880 83,753 4,127
OHAXSH 8,621 8,216 405
— A2t 224+
38 8,476 * 1Y » 3Al2+ » 339 8,621 8,216 405
=Rl 219,030 150,920 68,110
=34t 219,030 150,920 68,110
201 Let2F | 53,720 59,720 6,000
01 AtR22t2|dl 38,384 44,384 6,000
ogaag 18,100 24,100 26,000
—=% & 50,0008 * 198 » 246 12,300 18,300 6,000
405 XH&EHFE S HI 74,110 0 74,110
01 HMEZ2EFHSHI 74,110 0 74,110
OMN F¢Y 5,260 0 5,260
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—UREE 250,000& * 20K

—HEE 170,000& = 264

—agd 170,000& = 104

—0Is2 4 170,000& = 1JH
Oomeld =g 200,000& = 5K
Ooox 7

—UEE 250,000& * 20K

—NEE 150,000& = 2694

—asa 150,000& = 204

—Olsta 4 150,000& = 7K
Oo0lsAl Mg 7Y 200,000& = 304
o4l +¢

—S&4 500,000& * 9K

— AR 4 350,000& * 5K
O« HOIZ2 7

-S4 500,000& = 274

— AR 4 200,000& = 1JH
omJlE A 24

-2y 650,000& * 8K
oz&d +¥¢

-S4 300,000 = 1JH
Oos&d4 g 7Y 400,000 = 2JH
Os&4a dgd 2¢ 500,000& * 14
ooz o 2 150,000& = 1694
O2o4 22& HolgE 7Y

350,000& = 210K

Osloa 298 okt 7Y 85,000& 504
OFAH4 AEHOZE 7Y 250,000& * 20K
OFA4 HOIZ2 X #& 100,000 * 1274
OFMLD 2y 2

—2Md1 5,000,000& * 14!

—sSH81 3,000,000& * 14!
O] 2EMHIR +¢ 220,000& = 256=
OZgd &30 7 200,000& = 1094
Otlda XML 7 350,000& * 29K
Ooclg 328 7Y 900,000 = 1JH
Ol 2

-S4 250,000& * 10K
ool Zdl 88l 2 500,000& * 8K
Ozloa 2ol ¢

—d A 700,000& = 274

— Ar2l 200,000 = 274
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170
170
1,000
5,750
500
3,900
300
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6,000
6,250
4,500
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300
800
500
2,400
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7,350
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M B
= YIS AAHI(BIIS)OIEH/IIE
S ST (e @
SA-EH O (B) - MRAIY - HY2 01l & 24 3= o HDS2
o #¢g 2,000 0 2,000
—-s&4d 1,000,000& = 1CH 1,000 0 1,000
-2 1,000,000& = 1CH 1,000 0 1,000
oYz 7Y 500,000 + 2rH 1,000 0 1,000




